BOOKS PURCHASED DEPARTMENT OF FOREST SCIENCE (2018-2019)

SI No.	TITLES	AUTHOR	COPIES	PRICE		AMOUNT
	0					
1	Indian Forestry: A Break Through Approach To Forest Service 6th Ed. 21930 -	K. Manikandan	1	Rs	395.00	395.00
2	Indian Forest and Forestry 21914	R. Balyani	1	Rs	700.00	700.00
3	A Handbook of Forestry 21928	S.S. Negi	1	Rs	1050.00	1050.00
4	Forest Ecology in India 21916	A. Sharma	1	Rs	700.00	700.00
5	Silviculture of Indian Trees 21911	Chaudhari	1	Rs	450.00	450.00
6		S.A. Thaha	1	Rs	895.00	895:00
7	Theory and Practice of Silvicultural Systems 24954	L.S. Khanna	1	Rs	1050.00	1050.00
8	Silviculture: Concepts And Applications 21907-08	R.D. Nyland	2	Rs	895.00	1790.00
9	Handbook of Forest Engineering 21918-19	S.S. Negi	2	Rs	895.00	1790.00
10	Forest Tree Improvement 21917	FAO	1	Rs	950.00	950.00
11		A.P. Dwivedi	2	Rs	995.00	1990.00
12		K.S. Bawa	1	Rs	950.00	950.00
13		R. Sharma	1	Rs	1995.00	1995.00
14		N.R. Krishnaswamy	1	Rs	595.00	595.00
15		R.K. Behl	1	Rs	2500.00	2500.00
16		L.S. Khanna	1	Rs	950.00	950.00
		Franklin	1	\$	140.00	9576.00
-		Ansari	1	Rs	3450.00	3450.00
19	Spices, Plantation Crops, Medicinal and Aromatic Plants: A Handbook 21929	Tyagi	1	Rs	4200.00	4200.00
20	<u> </u>	Chaturvedi	1	Rs	950.00	950.00
21		Marcus	1	\$	73.95	5058.18
22	rolest Mclisulation 2 19 6 2	J.A. Kershaw	1	\$	129.95	8888.58
	Handbook of Forest Protection 2 1958 Charleton 23 of GST Act 2017	S.S. Negi	1	Rs	895.00	895.00
24		D.G. Raffaelli	1	\$	57.00	3898.80
	(RUPEES FIFTY THOUSAND ONLY)	stern Bo				
	£ = Rs. 93.20, \$ = Rs. 68.40, € = Rs. 83.10		27		SUB TOTAL	55666.56

BOOKS PURCHASED FOR DEPARTMENTAL LIBRARY DEPARTMENT OF FOREST SCIENCE (2018-2019)

SI No.	TITLES	AUTHOR	COPIES	PRICE	AMOUNT
1	555 Medicinal Plants: Field and Laboratory Manual 21946 581, 524 FAR	Farooq	1	Rs 2500.00	2500.00
2	A Textbook of Forest Trees Entomology 21935 624, 96 4 F	Sharma	1	Rs 895.00	895.00
3	A Treatise on Integrated Pest Management 21 052 627 9 TRE	Sivasubramanian	1	Rs 1250.00	1250.00
4	Forest Mensuration 219 63 63 4. 9582 620,2	D. Bruce	1	Rs 3495.00	3495.00
5	Forest Tribology and Anthropology 21965 306.080152 MIA	V.M. Mhaiske	1	Rs 1450.00	1450.00
	Forestry - A Subjective Guide for IFS Aspirants 21938	K.T. Parthiban	1	Rs 2450.00	2450,00
	Forestry: At a Glance 21 939	A. Kumar	1	Rs 950.00	950.00
	Foundations of Ethnobotany: 21st Century Perspective 21959 580 CHA	S. Chandra	1	Rs 1795.00	1795.00
9	Indian Ethnobotany: Emerging Trends 21960	A.K. Jain	1	Rs 2650.00	2650.00
10	Managing Forests as Common Property 21940 634.92 ACN	FAO	1	Rs 595.00	595.00
	Physiological Plant Ecology 4th Ed. 21956 581. 7 LAR.3	L. Walter	1	Rs 1990.00	1990.00
12	Plantation And Nursery Technique of Forest Trees 21945 634, 9564 PAR	Prakash	1	Rs 1050.00	1050.00
13	Practical Manual of Forest Mensuration 21941 634,9285 PRA	Kumar	1	Rs 195.00	195.00
	Soil Microbiology, Ecology and Biochemistry 4th Ed. 21964 631. 417 Sol. 3	E.A. Paul	1	Rs 3995.00	3995.00
	The Wild Animals of India 21948	BNHS	1	Rs 1000.00	1000.00
16	Vegetative Propagation of Trees: Principles and Practices 21962	Vanangamudi	1	Rs 695.00	695.00
	Wildlife in India 21947	K.P. Jugale	1	Rs 995.00	995.00
18	A Handbook of Forest Utilization 219 らチ	T. Mehta	1	Rs 850.00	850.00
	Biodiversity: Issues Threats and Conservation 2195333249ESTATED ON	B.N. Pandey	2	Rs 1895.00	3790.00
	Forest Fires 21949 "PRINTED BOOKS"	S.S. Negi	1	Rs 650.00	650.00
21	Forest Policy and Law 21951 Under Section 23 of GST Act 2017	S.S. Negi	1	Rs 800.00	800.00
	Forest Tree Improvement and Seed Technology 21943	M. Dutta	1	Rs 1500.00	1500.00
	Handbook of Forest Ecology and Biology 21902	S.S. Negi	1	Rs 895.00	895.00
		BOOK	24		
	C/F			SUB TOTAL	36435.00

SI No.	TITLES	AUTHOR	COPIES		PRICE	AMOUNT
	B/F					36435.00
24	Plantation Forestry in India 21933	R.K. Luna	1	Rs	1500.00	1500.00
25	Remote Sensing and Forest Surveys 21950	M.K. Sharma	1	Rs	795.00	795.00
26	Silvicultural Systems & 1937	R.S. Troup	1		2250.00	2250.00
27	Wildlife Biolgy 2nd Ed. 21912	R.F. Dasmann	1		895.00	895.00
a 28	Indian Forestry: A Break Through Approach To Forest Service 6th Ed. 21931	K. Manikandan	1		395.00	395.00
29	Forest Ecology 4th Ed. 21920 - 21	B.V. Barnes	2		1095.00	2190.00
30	Textbook of Wildlife Management 2nd Ed. 21904-85	S.K. Singh	2		495.00	990.00
31	Forestry Principles and Applications 21926	A.J. Raj	1		3850.00	3850.00
32	THE BOOK OF TO COOK!	F.F. Moon	1	\$	45.95	3142.98
33	Forest Management 21909-10	R. Prakash	2	Rs	950.00	1900.00
34	Forest Surveying 21923	R. Prakash	1	Rs	1050.00	1050.00
	24					
	14		14			
	-24					
	GST EXEMPTED ON FRANCED BOOKS"					
	Under Section 23 of GST Act 2017					
	Chapter 49, HSN Code 4901					
						Y TEXPLE
	(RUPEES FOURTY NINE THOUSAND EIGHT HUNDRED FIFTY FOUR ONLY)	Sein poods				
	£ = Rs. 93.20, \$ = Rs. 68.40, € = Rs. 83.10	The state of the s			SUB TOTAL	55392.98